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1.

ADN-S-SND

Let 8 be a set of all distinct numbers of the
form %,wher-ep,q&ll. 2, 3, 4, 5, 6]. What is
the cardinality of the set § 7

(a) 21

(b} 23

fe} 82

) 26

Ife>0and 4a + ¢ < 2b, then ax° —bx + ¢ =0
has a root in which one of the following
intervals 7
fa) {0, 2)
(b) (2,3
(e) (3,4
(d) (-2,0)

IfA=ixce B ‘Jf::_w g
B=(xcR:x" +9x+ 14
following is/are correct 7 ||

1, A.HB-II_:E'I;- .
2. AN\B=lxeR:-7-

Select the correct answer
below :

(a) 1 only

(b} 2 only
(e} Both 1and?2
(d) Neither 1 nor 2

If A is a square matrix of order 3 and
det A = 5, then what is det (247 equal to?

fal 1f10
by 2/5
ie) 85

(d} 1/40

(2-A)

What is '™ + 0™ + 0% squal to, where v is
the cube root of unity 7

fa} 1

by 3w

() 3o

tdl O

If Ra{::ﬂ =0, where z=x+ iy isa

complex number, then which one of the

h
b | equalto?
i

(a) lax+hv+gz h+b+f g+f+e

(b) |bx by &

(ax ¢ hy + gz
(el hoe + by + e
| g+ iy 4o

(dl lax+hy+gzr hx+by+fz gx+fy+cz



1. ww ofwn B ogmn i ot Bm (fefew) |6
I R w=y 5 %, W
poae (1,284, 56 % | 579 8 6 wEw
(FfEAfedl) = 2 2
(a) 21
(b) 24
e) B2
tdr 36

2, 'ﬂ.fn‘;'.‘c:-ﬂaﬂ'!ah-rc-:ﬂh,ﬂ‘l ax? —bx+c=0%
v e, e s e R TR E R 0
ta) (0,2)
by (2,8
e} (8,4
dl (—Z0)

6.

3, AR A=IxeR
B=lxcB:x?+0x+ 14
H i wE R
1. ANB=i{xeBR:-2

2 ANB=[xeR:-T<
e faw o = oW
(o) HEer 1
(b) HET 2
(e} 1377 2861
(dy AArL,AH 2

4. AR ATEIFOUH T AR RSN detA=5
®, A det [2ArY Frms R 2

1/10

(b} 2/5

(ed &5

1140

(a)

id)

ADN-5-8ND (3=A)

7~ a)

m1m+m2m+ﬂmmm%,ﬁﬂ i TS
() = T ko

fal] 1

(b} Bw

©) 8w’
dy 0

afg Ee[::i] =0, FE z=x + iy TF AIAY
émtﬁﬁmﬁﬁaﬁﬁnﬁwmqﬁﬂﬂt?

=141

a b g
y z]lbh b f| femEamEm e
g2, F =

fa) [ex+hy+ge h+b+f g+f+c]

{h) hxk by &

[ax + hy + gz
(el hx + by + fz

| ex+iy v+

(dl [ax+hy+ge hx+by+fzr gx+fy+czl



B.  Out of 15 points in a plane, n points are in the
game straight line, 445 triangles can be
formed by jeining these points. What is the
value of n 7
fal 3
by 4
el B
idl B

B & W
what is the imaginary part of 2 equal to ?
(g) O

1
b =
(b} 5

Vi
(e) T
d 1

10. Ifboth the roots of the eqy
x* — 2Zkx + K =4 = 0 lie betweir -
then which one of the following is corr
(a) —2<k<2
(b —-H<k<3
g) =3=<k<bhb
f(d) =1<k<3

11. What iz the number of distinct solutions
of the equation 7°+ |z| =0 (where & is &
complex number) 7
ia) Ome
(b} Two
(e}  Three
(d)  Five

ADN-3-SND [4-

12. How many geometric progressions isfare
possible containing 27, 8 and 12 as three of
iteftheir terms 7

(mne

Two

Four

al
b
el

id} Infinitely many

Let R be a relation from A=1(1, 2, 3, 4) to
B = (1, 3, 5| such that
R=((a,b):a<h whereaec Aand be B,

What is RoR™" equal to ?

) 101, 3), (1, 5), (2, 8), (2, B), (3, B), (4, 5}
' 1), (6, 1), (3, 23, 16, 2), (5, 8), (G, 4)}
f(3,9),8, 5, (5, 3, (5, 5}

813, 4), (4, 5))

er divizible by 3 is to be
digits 0, 1, 2, 3 and 4 without

gign of digits. What is the number of

ways this ¢can be done 7

fa) 98

(b} 48

(el 32

{(d} Nonumber ean be formed

B
16, Whatis g+ Meg 4 Z B-1C, equal to 7
il

al %,
i e
. P,
dr o,

A



8 TF HOAe W 15 el @ @ o fog ow f mm|ae, U Reed i Afedt wve B, Ges R
T W E | g faege i e a5 B vl # # i ve 27, 8 3 128 2

FEFE| nFAAETR Y {a) TH
ta). 8 (b) o
{hy 4 (e) ﬁTt
(d) ITET; IE
el B
(d: 8

13. " AU R A=1(1,2.8,419 B=[1, 3, 5| 7,

W7 107 30 UHN W UF HE B,

9, = 3=(£+-’—I] . “ﬁ_i] B Re=llo,b):a<h, W acAxM b BB
N 272 RoR-! foes s 2 9

(@) (1,3 (1,5), (2 8), (2,5, (3,5, (4, 5}
(@) 0 % é (3, 1), (5, 1), (3, 2), (5, 2, (5, 3, (5, 4}

IR *\ (&) _I3,8),3,5),(5,9), 5, 5)

: AR ), (3,40, (4, B))
(e} ﬁ .

- ST H AN G F S
tdy 1 Tawren, U oiw-3tE 3

10,  Tfg wftEm x? — 2kx + k7

_adn sk A fom # N E

Wi e Hell Y d 43

[a) -2<k<2 (©) a2

e () rd een TH T aw

(2} =-B<k«<h

i) —1<k<3 . B

15. ‘T{:¢+“ﬂﬂ+z B-ic, Tand w7

11, FEE o 4 |z|= 0% (F6 2 UE wEY HEn i=8

2) fim (EfEw) i fi o= s 2 0 @ ",

(8

s m Slcg

() & &

(e I.ﬁq lel ﬂ,‘

(d) ui= oy

ADN-S-SND (5-A)



Consider the following for the next three (03)
items that follow :

Let &, x, v, 2, b be in AP, where x + v + 2= 15, Lel
a, p;q, ¢, b bein HP, wher&p" +q"] +r 1= 5/3

16. What is the value of ab ?
ta) 10
(b} 9
¢} B
dy &
17. What is the value of xyz 7
(a} 120
{b) 1056
(el 90
{d} Cannot be determined
18. What is the value of pgr ?
{a)l 35/243
(h 81/35
ie) 5]
idl Cannot be det

Constder the following
items that follow ;

The sixth term of an AP is 2
difference 18 greater than 1.

18. Whntwthemmmund:ﬁei

think thi produst of (e Tist ﬂmrthandﬁﬂ.h
terms is greateet 7

(a} &5
(b} 9/5
(e} 2
)y 116
20. What i=s the first term of the AP so that the
product of the frst, fourth and fifth terms is
greatest 7
(a} —4
by =86
e —8
tdl —10
ADN-S5-SND ( B

Consider the following for the next two (02)
itema that follow :

x+1 2= 3%
Let ax® + bx® +x +d = 2e+8 x4+l ;" Sl P
2—x dx+4 bOx-1
then
21. What is the value af ¢ 7
@ =1
thy 04
el 36
al

(d)

L ;' I ';' o | L iyl ~
| O g™
i 1

he inte nrﬂngl&aufnpnlmnnt’nmdﬁmmﬁ?
smallest angle is 120" and the common
difference is 6%

23, How many possible values can n have 7
ta) One
th} Two
{e) Three
{d} Infinitely many
24, What is the largest interior angle of the
polygon ¥
ta)  160° only
(b) 196%only
te) Either 160° or 195°
(d)  Neither 160" nor 1957

=%



I 7 (03) TETT & R et oy f@er

Firag
AR AT a, x, v, 2 b, FEEL A (AP H 8,

&
-

TE x+y+2=15% | 9A #E=0 o, p, g, v, b, EFER

auft (HP) 4 B, 98 plegler!
16. ah® uH &0 & 7

=53 & |

L

(&) 10

by 9

-

(dl @
17. xye i a9 7R 2

(al 120

(b} 106

(e B0

(dy Traifra =@ i = o=
18. por & W F0R 7

(a) 95/243

by 81/35

(e} 24335 3

(d) Freife A8 R o o

sied ¢l (ug) gy & e
#ifam |
ﬁ#m%ﬁl{mwmﬂmz
W 1E s B
19, Eﬂmhﬂmﬁaﬂaﬁmﬂrﬁmm% GliET

UEe, WY 3 wieE TE F TG e
Bl ?

(a) Bf5
{h) 95
e} 2
(dy 11/
20. WA A1 (AP) S GEEN UE T R, Wiw T,
=t 3 oied 15 W EEe it 12
a) —4
b -6
{6} -8
@ -10
ADN-5-5ND [F=

FWE 7T (02) WAIHT & [ feteiaw o fEeEw
Care e

o7 #Hifan
41 2% g%
ax + b +ex+d=|2%+3 x+1 X 1
2-x dx+4 OGx-1
il
g1, cHHAFTIRT
fa) -1
(hy 34
35
d ® AR FNE Y
feferay oy feremw
u'_‘:_[?rlﬂﬁ ﬁﬁw*ﬁﬂ:ﬁﬂmwiﬂl
H R | o 1200 o ad o o2
03, n& e Oug oW B g § 2
lal TH
hy =
le) GiC
id} Fad: SHE
24, WEYS F1 Fwd 4L stoHm e R o
ia) HEe 1807
(b} Faw 195°
(c) @A 160° Wl 195°
(d) A 1607, 3 # 195

Al



1.8
25. l.fm=|: ]andn=
Qe &

a7,

ADN-S-SND

' R
, then what
Bl

is the value of the determinant of
meos B—ngsinf?

a) -1

(b O

) 1

dl 2

—ginx 0

If fix) = |ginx 0|, then which of
0 0 1

the following are correct 7

1. fi0) = ) = 18 + o).

2.  The wvalue of the detarminant
matrix f1@) x 1) is 1.

31 Thﬂd.ﬂ ll:ir‘,,.:'
function,

Select the correct ag

below ;

{a} 1andZ2only

thl 2and3only

{c) 1and3only

(d) 1,2and3

ons X

DOE X

Which of the following are correct in respect
of the system of equations x + ¥y + 7 = B,
x-yv+22=6 and 3x-y+5z=k?

L They have no solution, if k = 15.

2,  They have infinitely many solutions, if
k=20

3, They have unique solution, if k = 25.

Select the correct anawer using the code given
below :

ta) 1and2oenly
(b) 2and3d only
(e} | and 3 only

idi 1,2and38

1
28. lt‘ﬁ=|i2

30.

(B—A)

L] . .
and B = . then
3 e A
which of the following is/are correct ?
1. AB{A7B Y is & unit matrix.

TR ' -l e -

Select the correct answer uging the code given

below :

ia) 1 only

(b) 2 only

(¢} Both1and2

Neither 1 nor 2

Inyisthe AMofinx, Inx, Inxandn z

e} Ilnyisthe HMoflnx, inx,lnxandinz

(d) Inyisthe AMofln x, Inx, Inzandin 2

If the number 235 in decimal system is
converted into binary system, then what is the
resulting number 7

(@) (11110011},
(b) (11101011},
(e} (11110101},
(d}  (11011011),



- m=[1 “] o [“ 1]. I [1 ]tama [2 E]t.a"r
0 1 w1 g £ =3
m cos 6 -n sin 6 5 TS F AW =1 ? Feferfien @ 8 ¥ /g w8 2/8 7
@y =1 1. AB{A™ B U U SR R
w9 2. (AB)-'=A"1B
(el
XS it fog o w2 1wt = Eh I SR
{a) EA 1
pogx —ginx
£6. 'ﬂﬁ fx) = [sinx wax () E. Al (b) F 2
0 0 1 (¢} 1 ¥R 2EH
et daswaghi ) AM1L,AH2
1. A8 =<y =00+
9, Wﬂﬂnxﬂﬂtmﬁmmmlil' éﬁ:ﬁm‘ktﬂabl y>13zs>1% fom
3, mjmmﬁmmtr* "«a&@\l
(a) Haw 1aaz |
(h) Ham z3Rg ;
¢) “Hae 1#NS
iy 1,23fa

e FEE x s v e 2= E.!—y "%'31:'-"“5‘ G &1
dx-y+ 5=k % "ey § Fofafam § @
wAH HE R

1. 4R k=157, 9 39 30 5w A & |

g, Ul k=208, @ 39 3eA: WS 5B |
3 FRk=25%, A & AR Y |
4 o T g2 w1 = AE I AR
() e 132

() e 2 33

(¢} HEw 1373

@) 1,23y

ADN-5-SND

(8-

(¢) Inwinx In x 3 In 2 T THE A4

(HM), In v &
(d) In % Inx, In 2z 3 [n 2 S FE AT
l.ﬁM]‘Jﬂj’i
30, Ae ZoWem Sgn  HEm 235 % fGemad
wgfi @ wfiafds Rear s 2, & oftord g
TR 7
(a) (11110011},
(b} (11101011},
(¢) (11110101},

(d) (110110110,

A)



Consider the following for the next two (02)
items that follow :

Let o and [ be the roots of the equation
IE—RI—Eﬁij+fI—2an=ﬂ,

41. Under what condition does the above equation

have real roots 7
(a) a e

==
T
-]
[ 2]
)
=N = L) L

La)

b} a°

() ﬂﬂ

(di a"e [l,%] onl

What i5

- i
equal to, where o is the cube
LiF

raot of unity 7
fa) 1

(bl m

(el mg

Em,whmi:.ul'—_l

(d)

ADN-5-SND

| For

(10-

In an examination, T0% students passed in
Physics, 80% students passed in Chemistry,
75% =tudents passed in Mathematice and
85% students passed in Biclogy, and x%
students failed in all the four subjects, What is
the minimum value of x 7

(a) 10
(b) 12
ie) 15
(d) None of the abave

Consider the following for the next two (02)
itemas that follow :

e fystem of linear equationz 25 + 3y + 6z = 9,
—2z=8B and 2x+3v+ia=

36. Under what condition does the above system

of equations have unique solutions ?

{a) A=bandp=9
b)) Aw«bHandpy="Tonly
e} &#B6andyhasany real value
{d)  Xhas any real value and p =8
#7. What is the number of odd integers between
1000 and 3999 with no digit repeated 7
(a} 2100
(b} 2120
{e) 2240
(d} 3331

A)



w2t (02) v & fRw Aefata r fEemn g,
#ifam

WA w39 p s

¥ —i1-2a8ix+(1-2a)=0F GHAE |

frm wfey & @b sugw o & O
TRt ' 2

3.

5

ia)

=
A

mlﬁ
v

(b

e
"

bal= B3| pafe BA

{cl

[

td)

-]
L)

33.
1+
1 EEE R 37,
m) 1
(bl @
(e)
(d) o, R = =1

ADMN-S-SND (11=A)

s i, W § 7on R s g
wre i g0 TEend S mu, wfm | 7a%
forreff 3wl wu afw Sfafasm & sse fmd
i g, v X% Faend of =w fyw
FAAT Y | x F A TH H4 R 7

ial 10
thy 12
el 15
(d) I T H FE T

R 7t (02) wwe & fern Aefafew o fEew
ifa :

of i 2%+ By + 5z =19,
=8 oM 2x+dy+iz=p %M

Al w1 7 7
fal A=563Mu=9

(i FETA£GIRp=7

(6] & =53 o wg arEAEE 7 §
(d) a1 Shig wretas o 8 ol pey

1000 3 opas % e, Rl o = gEn
fam, s qorient o Hewn w=nE 2

(&)
Lhy
{3
id)

2100
2120
2240
3331



88. What iz the greatest walue of the|42.
positive integer n satisfying the condition

 Jpgp e 1
1+~2-+I+E+m+ o1 {E—ﬁ 7
{a) B
(k) 8
{ey 10
@ Ir

Consider the following for the next two (02)
iterns that follow : 43.
9x” + 3x =0 has roots —2 and P while the
equation x* — 3mx + 2m® = 0 has both roots
positive, where >0 and A >0,

If x=gin 70". &in 50° and
y = coa 60" , cos B0?, then what is xy equal to 7

fay 118

(b 18
(c) 14
(d)  1f2

If sin By + sin By + sin H, + sin B, =4,
then what is the value of
cos & + cos By + cos Oy + cos 6, 7

{a) 0

39. What is the value of o ? % <'7éb} :

() 12
by 1
(e} 2
d) 4
40, If B, 2, 2m arein GP, t
of fvm 7
{a) 1
(b} 2
(e) 4
(d) 8

41, sin A + 2 5in 2A + Bin 3A §s equal to which of
the following ?
i dsniA e [i]

2
3

9 Eﬁni&[ﬁn%+m%] "
8. BainAcosA cos® [%]
Select the correct answer using the code given
helow :
ia) 1and?2only
(b} 2and3 only
fe) 1and3only

ADN-S-SND (12-A)

%;((
A LS

mﬁ—ﬁ] [1 +m%] ?

—y
=3
ity

-

,H
=

S-S

(5] b2

o= Ml B

&

If xcos O+ y#in 0 = z, then what is the value
of (x sin —y cos 6)° 7

(8) %2+ y° o
b xf—y?—g?
el -y ez
(d) et



88, Wimay 42, AR % =sin 707 . in 50° W

R L (VU [ Oy : = eos 60° , eos 807, T xy Teheeh we B 7
Léotatgte Eﬂ_lqﬂ mmaﬁr‘age 1
0 =6 99 T o e g R @ 118
(a) B (b} L/8
(b) @
(@ 10 (e L4
d 1 y 1fg
e B (02) ORI & few RefEiam @ e
e - 43, I sin 0, + 2in 6y + sin By + sin B, = 4 B, T

f B, T WH R
2 + 8k — o= 0% 05 —2 30 g &, 7akh mimm R s

<2 gmx + 2m? = 0 % 241 qE A &, T a0 ()

0

fip-0#|
20, o AR TR ?

(a) 1/2
(b)), 1
(e) ‘2
id) 4 ¢

af2 ), 2, 2m TR A (G
o R Y
(a) 1

(b 2

o) 4
(d} 8

gin A + 2 sin 2A + gin 34
FOEL R 7

1, 4 &in 2A cos” [%J
4
5. Zain2A [sini+uaf-]
2 2
3. 8sin Acoe Acos® L%]

Hr fau T g = M W A I S
a) FEA 132

(by HaEm 2aia

(c) FEE 13

d 1,233

ADN-S-SND

=

+

N
Si- - || o

,..
e
ol b= B3R

=

45. ¥% xcosBeysind=z B, A
(% sin @ — v cos 8)° T AE F R 7
2
a
2 _ten®
iy el

{a)

) x°

X —:,r -
(el

id)

(13k Y



48. What is the value of cos (2 coe™ 0-8) 7 48. A moving boat iz observed from the top of a
@l oal clift’ of 150 m height. The angle of depression
of the boat changes from 60° Lo 45° in
(h) 056 2 minutes, What is the speed of the boat in
(&) 048 metres per hour 7
- 4500
(dl 028 (a)
;E
) AB00(SE 1)
47. The top of a hill when observed from the tap V3
and bottom of a building of height h iz at {e) 480042
angles of elevation p and g respectively. What
4
is the height of the hill ? (d) %
() DA
oot q — cot p . 1—tan 2% cot 62" "
" En1bT —eotEas T 107
e
otp—oot g

G tan p— tan ¢
Zh tan g
[d}
g-tanp
L A eguila altnangiehm:ma?ﬂrtaxnt{ﬂ )
f nuﬂmtheratm-u"-i What are the
o1 coordinates of the third vertex 7
48, If sin 18°= - this
4 (a) (0,243 ) only
gin B1° 7
B (8,3 ) only
(&) v3+ 45 + 5 - B (ed (0,23 )er(3,=+3)
4

(d) Neither (0,23 ) nor(3, —/3 |

(b} {348 + Y5+ |
52. What is the equation of the right bisector of
the line segment joining (1, 1) and (2, 3)7

"'IH'JE:J-E'_‘E {8) 2x+dy-11=0

{e)

(b} Zx—4y-5=0

Jﬁ-hjE—JE-JE (&) 2x-d4y-1l=0
: ) x=-v+1=0

tdi

ADN-S-SND (14-4)



48.

47.

ADN-5-SND

cos (2 eos~" 0-8) 1 W AT E 7

(a) OBl
by 086
(e} D48
{dy 028

v wETEl W e, b =l A o & e
mmﬂﬁhﬂﬁmmﬁmm:pmqﬁi
T I TR | TS R A s B 7

heotg
(a} e =TT
h oot p
{b) oot p— ot g
() Zh tan p ‘E
tanp—tang .4
Zhtanqg

dl  —
1 tang—tanp

) 1|ﬂ+-.|'F:4-1,|| -5
4
) qiﬂi--.lrE+-,‘|IE-+1'rﬁ-

4

Ji—J8 +5-+5
4

{e)

) __1||3 -1-1"5—1"5—-"?!
4

{15-A)

49. 150 m # I 1 vw W wge F fona A

% AW A W 2E W T R | A W
FEEe w2 il 9 600 @ sEEet 45° 7
2 | #ma 9w, W e ae F, e g

) 4500
JE
8 iﬁurui;.'i'ﬁ -1
(€} 450043
0 4500043 + 1)
;E!

1—tan 2" oot 62°
EFH# L LR D
162° — cot BBY 8

: o 9 (0, ) 9 & s -0
(3, -I"Jfltt | vt 3 & Fdes w0

(a) hE® (0,243)

rhl:- e (3, -3 )

fc) (0,2+/3 )77 (3,-3)

(d) T 0,243),7H (3,-43)

(1, 1) o (2, 9) ® WEA G s F oo
s w1 wfEm 2 0

(a) Ex+4y-11=0

) Ix-dy-5=0

el 2x-dv-11=0

d) x—y+1=0



a3.

LEN

ADN-S-SND

What iz the radius of the circle passing
through the point (2, 4) and haying eentre at
the intersection of the lines x — v = 4 and
29+ By + T=1?

{a)
(b}
)

{d}

4 unite
5 units

343 units
542 units

What iz the equation of the hyperbola having

B
J5

latue rectum and eceentricity 8 and
respectively 7

(&l

B et
fe)

@ -

|z+y | =92 t.hanv.hﬁﬁu
15 correct 7

|a| <2
laf <2

|a| =1
8] <=

Jz
What i= the equation of the straight line
which passes through the point of intersection
of the straight lines x4+2y=56 and
dx+ Ty=17 and 18 perpendicular to the

la}
(b}
le)
{d)

straight line 3% + dy = 10 7

{a)
b}
ic)
(d}

dx+ 3y +2=0
dx=y+ 3 =0
dx-3y-2=0
dx—3y+2=0

av.

(16=A )

If (a, b) is at unit distance from the line
8x + By + 1 = 0, then which of the following
conditions are correct !

1. 3a—4db-4=10

2. Ba+6ba+11=0

3. EBa+6b-9=0

Select the correct answer using the code given
below :

(a) 1and 2only

{b} 2and 3 only

fel  1and3only

d) 1,2and3

“If the ellipse fx” + Iﬁy = 144 intercepts the
hm: 3‘.: + dy = 12, then what is the length of
ard so formed 7

Lra r_-ut.unﬂ'anmtmﬂ-ptnfﬂtm:ta
the ]:lm;itwa direction of x-axis and passes

through the point (— 3, 6). What is the foot of

the perpendicular drawn from the point (3, 3)

on this line ¥
@y (1,3
th) (2,0)
(el (0,2
dy (1,1

What is the eccentricity of rectangular
hmrhnla?

fal W2
(b) 3
(e} 6
d) B



58. famg (2, 4) 8 T A A YA x -y = 4 30
X+ Ay+T= ﬂ%mﬂﬂmﬁqﬂﬁ
Eedeoi b &

3 Al
5 FHEA
343 gl
52 Tl

8 wfEgrEes w1 e 7 B s fiem
maﬁﬁmm:am%h

57.

ial
(b
(e]
id)

(a) =—==—=1

1 IR B |

30 A @ & e AR, A W
;|;+2:|.r=ﬁ-5|h 31+TF=1T%M%%’&
ﬁﬁgﬁm%aﬂ{mm 33+4}F=1ﬂﬁi‘i’i‘
L&
L)
th)
el
id)

ADM-5-SND

dx +3y+2=0
dx—-y+2 =0
dx-3y-2=0
dx—-dy+2=10

(17-A)

afE (a, b I Bx + fy + 1 =08 OS2 wm &,
7t Freffian ofimel & 8 S8 wh 8 0

1, 38a-4db-4=0

3. Ba+6h+11=0

3. Ba+8b—-9=10

i i e 0w @ I g
(a) THES 13 2

(b) el 231 3

Hae 13T 3

1, 23T 3

fed
{d)

58. ﬂﬁﬁﬂ'ﬁ'rhi-t-lﬁyi 144, 5T 3x + 4y = 12

L

mﬂ'ﬂﬂiqz{%rz)ﬂﬁmt Al §9 WEW T
1 o e =

aﬁqﬁﬁ:aﬁ?ﬁﬁaﬁ{ﬁgt—a B) &

#et 1l B ) famg (3, ) # W T w EiE
FEH TR R 7

fay (1,.9)

by (2,0

fe) 10,2

(Y (1,1

T s 6 I 9 E Y

(a)
(b
le)
id)

SRR



Conzider the following for the next two (02) |64, What is the equation of the line L7
items that follow : (@ x-5 y+6 2-7
Let @ be the image of the polnt Pi— 2, 1, — §) in the e * =9
plane 3x =2y + 2z + 1 =10, b1 H+5_]:"_—_§_EE+7
-1 4 -3
61. Consider the following : : $=5 y+B. 2-17
1. The coordinates of Q are (4, - 8, - 1. T
2. PQis of length more than 8 units, 3 _§ y+6 &—1T
4,  The point (1, - 1, — 3 is the mid-peint of e
the line segment PQ and les on the
given plane.
Which of the above statements are correct 7 Consider the following for the next fwo (02)
[E} 1 and 2 iml? items that ﬁ?ffﬂ.lll‘ .
(b} 2 and 3 only Iﬂa—?+j,h-31+4kandb=?+?i.,
(¢) 1and3only % . e 3
) 1 2and3 i e up&r to m an d is perpendicular
682. Consider the following
1. The direction
PQare<3, -5 » 1
2. The sum of Aquares
cosines of the line seg
Which of the above statemen
(&) 1 only
(b) 2 only
(e} Both1and2
(d)  Neither 1 nor 2

Consider the following for the next two (02)
itema that follow ;

A line L passes through the point Pi5, — 6, 7) and
is parallel to the planes x4+v+2z=1 and
2x—y-22=13,

B3. What are the direcHon ratios of the line of

intersection of the given planes ?
fa) =1,4,3>
(b <—1,—4,4
o) <1,=4.85>
d) <1,-4,-8>
ADN-5-SND (18-

[f+ _‘15}
F

-
If d=xi +y] + sk, then which of the
following equations igfare correct ?

1 ¥y—x=4

2, 2z-3=0

Select the correct answer using the code given
below ;

(a) 1only

(b} Zonly

(e} Both land 2

(d} Neither 1 nor 2

Al



A B (02) T o fav Refeiae o e
#ifam .

aF =i Q, forg P2, 1, - 5) 1, FHE
% — 2y + 2z + 1 =0 1 wffam & |

61, frofefes o fEEm i
1, Q% Fdwewi4,-3,-12|
9, PQHI w8 TwEa @ = # |
3. famg (1, - 1, - 3 temEe pQ W nenfag B
=i o o geew W R R
FwdT FeET § # R
(a) THEE 13N 2
(b) HEw 233
(¢) Faw 133
id) 1233
g2, F=fefEm w fa=m ff 0
| TaEmwE PQ® é ~
2 TawE PQ ¥ B HFATE

(al
(bl
(e)

I AT § @ T e )
(a) 1 2/ \
(h) %HEE1 2 j
(¢) 1AW 2EH
(d) FTATLITR 2
TR 3T (08) TV & faw fAeferam or e
#forn:
o T L, fe ps, -6, 1) @ A et B osfe
AUTE] x+y 42 = 1T 2x—y— 22 =3 % AATH R |
63, feu mu wwasli 1 ufreds @ 5 sy
wn # 7
<1 .4 3>
c—1—4,8>
<l,-48>
<l,-4,-3>

()

ADN-3-SND

64, @ 1, % mefiem == R 7

g="T
=T

“_Ezr*-ﬁz
-1 4

:+5_3.r—E
= T

(m}

A 2+ T

thi Sk

=T
3

E=T
=)

STt Gt (02) Sy & feaw Fefafey o e

=06 y+§

e} = =

IE}’EE

(dl — ey

?=3;+4i A
a % HEGL B 3R

G ﬁﬂ&r=:?+y?+ai.ﬁmm
# 8w ad 2
1. y—x=4
2, 22 -3=0
e feu T 2w WEW W OHE I ET
fa) a1
(bl 2
(c) 13 2@
) FWLARL

{(18=-A)



Consider the following for the next two (02)|72.
iterms that follow :
-+ - -4
let a, b and ¢ be three vectors such that
a+b+¢=0,and|a|=10,% |=6and
|6 | =14,
87 Whttle aob ¢ Bie + oon equal to ?
(n} —332
(hy —166
€. O
id) 166
— —
68, What is the angle between 2 and b 7
() 307
(h)  45°
ek ahe
(d) T75°
6. In a rightangled tringle m;@ :
hypotenuse AB = p, themewhagis
- =+ = 3 4
AB.AC + BC.BA §
(&l p ’
®) p
(e} 2p®
[
i e
G 2
70. A foree F =31 +2] —-li,a
point (1, =1, 2). What is the moment of the
foree about the point (2, -1, 3)7
(0) 1 +4] +4k
A A A
tby 21 + j +2k
) 2 —13 _2k
& M A f
idl 2i+4) <k 75.
71. What ia the domain of the Ffanetion
IR
JIx|=x=
fa} (==, 0)
(b} {0, &)
) D<xa]
{dl x>»1
ADMN-S-SND (20-A)

Congider the following in respect of the

Z2#+X, =E=0
function fix) =
2-x x<b
L lim fx) doss not exist.
xew]

2, fix)is differentiable at x = 0,
3. fix) 15 continuous-at x = 0,
Which of the above statements is/are correct 7

() 1only
(b} Aanly
e} 2 and 3 only
(di 1ond3only

f: A— R where A = B (0] iz such that
: B12] s ohiilh oon of the Kilowiag

§ uf the following =tatements
ig correct in respect of the function
f{x}l—x gin x ?

(@) It has local maximum at x = 0.

tb) It has local minimum at x = 0,

(e} It has neither maximum nor minimum
atx=10.

{d) It has maximum value 1.

What is the area bounded by the curves

lv]=1—x"7

(a)  4/3 square units
(b)  8/3 square onits
ic) 4 square units
(d)  16/3 square unita



e 2t (02) ST & foe frefatas oy @
.

o w5, b o o @ miew 3| awn # R
it A s ,—._l';l-"1I £ |?|=1ﬂ,|T:.'|-E

AT =142

O~
i «h

la)
(b}

ek
(d) 166

2t FdemEwm i
(&) 307
by 45°
(e @0°
(g J5%

sl o el g
#bh.e 4¢ .8

- dd2
- 166
0

67. formes w7

. g, -1,2 WA F A ol _ ak
RN W R | T (g, - 1, 3) & ofE: wm o

e w41 # 2

A A »
&) 1 +4j +4k
& A A
) 21+ ] +2k
] A A
e} 2i-7j-2k
'3 [ ]
d) 2i+4j—k
71, B m.ﬁmnﬁa{ﬂﬂa}mh
x|-z
(@)  (==s, 0}
(by (0, 0s)
{eid O<x<1
(dy =x>1
ADN-S-SND

24x, X200

72. $EA fix) = % wag W

2—x, X=0D

Freiferfian = Ban Hifsm .
1. lim fix) = sfEg= @R

|

fix), x = 0 G EHAAE E |
fix) x=0 WHAA R |

2
8

I FEAl § H FHEE AR
(a) a1
(b}

Fotr=2 x| 3 | Pt wyet
) | 3
e 2 e 1lx) F0 B 7

;J 0j

“ 74, TEA fix) = = sin x & gey § e s

TR AN UETEE )
(a) mmm:,—_ﬂﬂtl
() w5 a0 R |

(@ x=0 WA 57 g B, 7R
fafers |

(d) w1 St 9= 18

75, @ |y | =1-%° T i Gowe TR 2
4f5 =7 wgal

8/3 %1 smat

4 1 el

16/8 = FehTEAT

(a)
o)
(e)
id)

(21-A)



Consider the following function for the next

two (02) items that follow ;
2
izl = dx” +12x -1, -1l<x=<2
3T —x, 2<x=3
76. Which of the following statements isfare
correct 7

L. fx)ig increasing in the interval [- 1, 2]
2. %) is decreasing in the interval (2, 3).
Select the correct answer using the code given

below -
(a) 1only
(b} 2 only
(¢} Both1and?2
(d} Neither 1 nor 2
77. Which of the following statements
correct 7
I, fix)iscontinuousatx=2 7
2. fix) attaing p g -
3. fx)is different
Select the correct answér
below
(a). 1and2aonly
(b) 2 and3aonly
fe) 1 and3only
(d) 1,2and3
Consider the following for the
ilems that follow :
Let fix)=||x| — |x - 1]~
8. What is f'ix) equal to when x = 1 7
a) 0
b} 2x-1
) dx-—2
(d} 8x—4
79. What is f'{x) equal to when 0 <x <17
fa) O
h) 2x-1
(e} dx—2
(d} Bx-4
ADN-S-SND (22—

flmctinﬁ over K.

80. Which of the following equations igfare
correct ¥
L fl—-2)=15)
2, M-2)+ 05} + (3 =4
Select the correct answer using the code given

balow :
(a) 1only
(b} 2only

{c) Both1and2

(d) Neither 1 nor 2
Consider the following for the next three (03)
iberms that follow :

Let fix)=[x], where [.] iz the greatest integer
function and gix)=sinx be two real valued

| gtad1seontinuous at x = 0, but fix) is not

1

U ind B (Togiix) erlats:

x—+

(bl Ijmu igof) (x) exiats.

(e lim (fog)ixj = lim (gof)ix)
L | B X -#l=

(di  hm (foglix) = lim (gof)(x)
X =kl = |

Which of the following
correct 7

1. (fof)ix)=fx).

2. (gog)ix)=gix)only when x =0,

4. (go(fog)){x) can take only three values,
Select the correct answer using the code given

statements are

below :

(a) 1and2only
(b} 2and3only
(e} 1and3only
(d} 1,2and3

Al



AT 3T (02) Ty & Tew Eefeem eee o
ﬁi’l’?ﬁﬁg‘:

St 1% -1 —lexs2
fx)=
37 —x, 2cusy
ng. FrofafEs = 4 7 sy ah 88 2

1. fix), @auel -1, 25 F4999 8 |

9. flx), 3T (2, 3]0 FEAE R |

i fau e ) T A ot I g
() a1

{b) e 2

(e) 13 2@

(d) Tt 1,AE 2

77, Pt e § & wwa ol § 0

1. x=29, fix)"5aq ? |
2 x=929 fx)AM

3 x=21T Rx)&H

3

Fe fm = = AL
(a) FEE 132 ;
(hy a7 3T A ’
(¢) THae 134
(dy 1,23y

A A (03) TV & fern (el
i
oW M fxi={(x) - fx-1)F B |
Wy 1R, ) R s E 7
ia) D
k) 2x-—1
6] dx-—-2
(d) Bx—4
70, Tlﬁ'ﬂ-:u-:'lt,ﬁ?f‘[:!ﬁ'ﬂ#mﬁ?
(n] 'O
b 2x-1
(¢} 4x—2
(d} Bx=4

ADN-S-SND

T8,

(23 -

80, Tt sl § & weEE e 7
1. fi-2)=fiB)
2. =27+ (06« 13 =4
= Fou e 2 = w0 AR I g
(n) AT L
() et 2
(e) 123 agHt
) Far1,a8e

e diw (03) TvTwT & feve freferiary we fae
Fifae:

w S fix) = fx), 9T (. ] wEEm i wee R e
gix) = gin x, B W 21 If% HF o 8 |

| T d g R R 7
| k) 3 g BT k=0 ETE |
%\ ki, x = 0 T &l B, TG glx), x=0 W

~ e
- —
o N .l
i & s

s

lim (gof)ix) & A& 8 |

x-+0

lim {fog)ix}l =

x =+~

lim

x-+0+

Frerfrfian ww # & $9-8 98 £ 2

1. (fol)ix)=1flx)

9 (gog)ix)=glx)Fad o F x=0% |
3. (golfog)) (x) FFE 49 OF 7 @501 £ |
e A 14 2

(b) THEw 233

{e) “hawt 130 3
dy 1,233

] lim

E—=0-

(fog)ix) = Hmn

x—+ U+

(goi)ix)

td) (gof)ix)

A



Consider the following for the next two (02)
items that follow :
-1

— . x =0

Let flx)= be a real valued function.

0, x=0

B4. Which one of the following statements is
correct 7

{a) fix) iz a strictly decreasing funection in
(0, %1,

flx) iz & sirictly increasing function in
(0, x1,

fiz) is neither increasing nor decreasing

m (0, x).

(d) fix}is not decreasing in (0, x),

Which of the following statements ia/are
correct 7 &
1. fix)i= right continuous at x = 0, =
fix) ia discontinuous at x = 1.

{h)
ie)

Consider the following for the next three (03)
items that follow ;

=1
x—2, 0«x<3
gixl=1 x| b+ =)

—-3zx=0
Let fix)=

88, Which of the following statements isfare
correct 7
1,  pix) iz differentiable at x = 0.
2. gix)isdifferentisble at x = 2.

Select the correct answer using the code given
balow :

Salect the correct anawer using uiﬂ%d.
e} 1only
(e} Bothland2 °

(d} Neither 1 nor 2

Consider the following for
items that follow :
Consider the parabola y=
straight line y = 8x — 8,

86. What are the coordinates uée it
parabola which is closeat to the strais
gy 02
th) (-2,—8)
e (=72
d¥ (1,10)

What iz the shorlest distanee from the sbove
point on the parabola to the line ?

i

87.

(al

b}

Lel

id)

=
W

“lor - ol ol

ADMN-3-SND

(24-

80. Which of the Tfollowing statements
eorrect 7
1.
. f
J,

BINe

gix) is continuous-at ¥ = (.
gix) is continuons At x = 2.

glx)is continuous at x = —1.

Select the correct answer uzing the eode given

below :

(a) 1and 2 only
ibl] 2 and3only
fc)  1and3only
(dl 1,2and3

A



T 3T (02) TYEIE & fevw e o e

T TS O 8

Tt S § 7 #0585 8 0
(a) ), (0, x) ¥ Fm smem wem #
(b) i), 00, 3 From oA wem #

T AT (03) TFEIAT & fere et o A
#ifem

-2,
HHE Hf )=

X1

—-dsx=0

n

l<x=s3

gixh= x| )+ |fix)]

gr, Frsfaius s o & S0 o &8 2
1. x=0T gix) FawTAG R |

(e} fix), (0, x) 8 7 A THAE B, 7 8 WA |
(d) fx, (0, x) T ErEEE TE R ) 2, x=2W glx) HEFEAE A |
g5, T el o 4 FEEVE #E 2E 0 CERE R B C o e
ik E:U“tﬂ:ﬂﬁmmii al ﬂﬁlal
8 x= 19T Ry 3FETH 2 | % ﬂﬁmﬂ
ﬁﬁqwﬁmmmmmf& g\
(a) EH I y \ Ny
(hy %492 4 v
(@) 132 0
W IMLTIE8 R —F = .
, & HE TR Y
s 7t (03) vt % oy ety R | i
ﬁﬂ’?: N [ r A.‘- | ) |
W}r=x=+?!+23ﬂf T
famm i | ‘ [e
8. wawd w39 fig ﬂiﬁﬁﬂlﬁjv B
+ e 2 7 ,
fa) (0,2
(b) t—?.z-}ﬂi po, Fr=fwfas el 4 @ w8 7 2 ¢
(&) (=T, -
) (1,10} 1. x=0Wgx "8 |
87, wEem R v faeg @ Y ) egem A 3, x=2W gx) EW R |
bl £ 8 x=-19 gix)&@0A ¥ |
fal EEE
3 41 few m 2 =1 g w0 9 I gE
(b ? (a) FEA 132
e el (b} FEeT 23R 9
V10 (c} e 13y
(d) % (d) 1,23M 3
ADN-S-SND (25=A)



91. Letfix) be a function such that

r[ﬂ + %3 £(x) = 0, What is j i) dx

equal to ? 1
@} 281

(b) 0

e 2f1-1)

(dy 4M1)

A
Whnl:ia.[ -1
IE-J:"'+IH-+1

|| 4, .2
(a) LM,”
x

aa.

dx equal to 7

{b}
iel
td)
83. What are the degree and order
hie ? -
E:nl 1—::i +Iﬂ|1—3'2 e
|¥| <137
(a) 1,1
(b) 1,2
& 21
d) 2,2
84. What is the curve which passes through the

R (L) 1 il e it aligi 8 2. ¥
X

Cirele

Parabola

Ellipse

Hyperbola

ADN-S-SND

la}
{b)
{e)
(d}

86, If xdy=ydx+y dy, y>0andyil)= 1, then
what is y{ -3} equal to 7
(a) 3omly
) =1only
(¢) Both —1and3
{d) Neither -1 nor 3

What is the order of the differential equation

%+I]ﬂ:=xﬂ s

(g} 1

dx equal to ?

Whit is J'Bﬂ_u x cos? x - minx

(a) (x+secx)e™%4p

(b}  (x—secx)e™®* ¢
ie) {:;+ta.n:'ileml+r:
(d (x—tanxie™*sc

(26-A)



81.

wi it fix) v v weE 2 R
1
F[%J+xﬂf‘fﬂ=ﬂil I fix) dx Tuds e
=

B7

(ay 281
iby 0

el 2H8-1)

4 1)

(d)
I x¥ -1
x?‘\ll::‘" +x° 41

95. I xdy =ydx+ yidy, v>0 M w1y =1,

Al yi- 3) s w2 7
(a) a3

(b) ehaer -1

() —1w e

iy Am-1,7%3

82, dx Teris e # 7 e
|| I
X +4x"+1
(&) -I—+1:
(bl ’:." 3= Lﬂ -0
x
CHNUIE Ry
x y e =) L -
- 1 &
4 T —-x"+ V.Y :
LAY l {a ) X == —]
nﬂ* H_‘f 1—_._2.-.1“]_’-2 -m;' . 1/ " v : & & dx 'ud-l
{E'ET c:.ﬂj |=| - 1' th A 1} . :!.- "L:-: f”:is ; g 2 i fEI]! 2
- b |¥y+x =1+
Sy wHr it (fed) S Ldx
el Cdy
i (eh [}"—.‘I:'E'E- =1+ E‘E]
lﬂ-] 1:. 1 ﬂI l.d-‘
2 i
12 @ (yex)-1-(2)
@ 21 ds
) 2,2
2y cinx X 08’ X-S0X ) Bk e B o
o4, fag (1, 1) T AT =, Foweht v = | . =
]
ﬁ.}ﬂ'[!': - fa) (x« seox) et T4 e
ia ninx
®) by ix mn]eﬂn +C
(@ m (e} (x+tanx)e *re
(d) frEe (@ (x—tanx)e™ 4
ADMN-5-5ND (27 -A)



a3

g dx

Ll J-Em-sx+5
i

value of k 7

(n)  1/4
by 1f2
e} 1
(d)y 2

=keot™ 12, then what is the

100, —x* |dx equalte?

lal —232/5

by —116f5

(e 116/5

(d) 232/5

A special dice with &
and 3 is thrown thrice

that the sum of the num -'_.,f:.:
upper face is zera 7

1n1.

() 172

b 1f8 :
e} 772 J
di  26/216

102, There is 25% chance that it rains on any
particular day. What is the probability that
thera is at least one rainy day within a period

of 7 days ?

7
1
g [EJ

o (3

(28-A)

106.

108. A zaleaman hag a 70% chance to sell a product

to any customer. The behaviour of successive
customers is independent. If two customers
A and B enter, what is the probability that the
salesman will sell the preduct to customer
AorB?

ta)] 088
(h) 081
(¢} 0:70
di 049

student appears for tests I, IT and III. The

A El:l.:ﬂtis congsidered successful if he pazses in

Il or I II or all the three. The
L. the student passing in tests I,
: .nmﬂifﬂr&ﬂpw;bwely If the

bl mnil+m)=1
fe) m=1
(d} mn=1

Three candidates solve a question. Odds in
favour of the correct answer are 5: 2,4 : 3 and
4 : 4 respectively for the three candidates.
What is the probability that at least two of

them solve the question correctly 7
fal  209/343

(b} 134/343

(e}  148/349

(d) 60/343



x4

99, af2

ﬂﬂm!:.rﬁ

mn!:'r

(a) 1/4
b 12
(o) 1
dy 2

|
100, Jl|1—x‘|d; e W 2 7

1
fa) —232/5
by —118/5
e) 116/5
idy 232/6

101. 1, -1, 2, -2, 0 ¥R 3

el HEnHl & 1
TRy

(w) 172
b} /8
L

102, Bt ot v fafee Bm o1 B9 =1 9Tm 25%
T F FHAFT v | 106
"

= koot™'2, W kW A

103,

104.

(29-A)

s e g et e w1 U I = w5
M 70% B | IAUT WIEEI @ SHEER &=
13k < s A 3 B am K @ wh
it war & e fdem 0w A T B w9
FeqTE A9 2 7

{a). 10-08
by 081
fey 070
dl D48

wie o g Lo s d @2 R 3.

S & T WEE W o f oS wieed oo
) éu
A A E)".:!—“‘- (

48 51 - e G B0 B
i = v " -

1w wft d B o3l @ = R ) m o
‘#{:Ll'- I "mmﬁai"uiﬁﬁ
1 BAF mieea 1/2 &, @ Pefafaa o 8

i sufiman oF w e w0 § | A o
#* fom et 3 % om0 SRR w9 6 2,
4.3 5.4 % | zuh v wfEm & B o
# FAHT 7 IeEn e S adkad s
Lol B

{a) 209/3943
(b)  134/343
{¢) 148/843

d) 60343



106, Consider the following statements :
1. The mesn and median are equal in
symmetric distribution,
2. The range i5 the difference between the
maximum value and the minimum value

in the data.

3.  The sum of the areas of the rectangles in
the histogram s equal to the total area
bounded by the frequency polygon and

the horizontal axis,
Which of the above statements are correct 7
(a) 1 and 2 only
(b) 2 and3 only
i} 1and3only
(d) 1,2and3

107. The scores of 15 students i
were recorded as 10,678, 16,18
‘20, 18, 11, 16, 14 apd 120A8

mean, median and néde, “an
One of the values is wrong
ingtead of 18, Which of the
of central tendency will ch

(a) Mean and medion %
b} Median and mode
(el Mode only

id) Moan and mode

and
aupply (v, the following data was obtained :

T x=130, T v =220, T x* = 2088, ¥ y* = 5506
and ¥ xy = 8467.
What iz the liné of regression of v on x 7

108, For 10 observations on price (x)

{a) y=081x+ 874
{1}
le)

{d)

y=1-02% + B-74
y=102% — T-02
y=081x — 702

ADN-5-SND

109. In a study of two groops, the following results

wore obtained :
Grroup | Group
A B
Sample size 20 2h
Sample mean 22 23
Sample standard deviation 10 12

Which of the following statements is correct 7

Group A is less variable than Group D
beeause Group A's standard deviation is
smaller,

Group A i less variahle than Group B
_because Group A's sample size is

-

Consgider the following statements in respect
of class intervals of grouped frequency

distribution :
1. Clags intervalz need not be mutoally
exelusive,

2. Clasz intervals should be exhaustive.
3. Clasa mtervals need not be of equal

width.
Which of the above statements are correct 7
{a) 1 and2 anly
{(b) 2and 3 only
(el  1and3only
(di 1,28nd3

(A0-A)



106. Fafaias s w fEen Hifbo

1. oyfie @25 § uren 3 qifcas e B
LA

2, &9 (2a1) O sfteem yw 3R SEn 9
% o= =1 =3 i (f=) wa R

3. smafem 4 e & SEEE 1 ATEE,
Anamm 7wy An Afva s gm iy
el @A 0 B E |

30w FwAT 4 H SA-E O § 7

(nl =had 1 32

(b} ZHEH 2 A 3

(e} THad 1 33

(d) 1,233

107. et Sl 8 15 BT & W 10, 5.8, 1
20, 8, 10, 16, 20, 150tmls, |
sifffan fe o | oy, miers
(sirz) 1 ofEweR A,
L] ol d | T HH T
foran mm | S wal
# A S e
(a) HTET HT T
(b) HTEIRT 3R TEES
(¢) T SR

(d) e 3R TEES

FI9 () 30 G (y) F 10 T & Frewtfe
e W fove 0

¥ x 180, Xy 220,
¥ y? = 6506 #W ¥ xy = 3467,

L y#mmhm &4 87
y={91x + B-74
y = 1:02% + 574
¥v=108c— T2
¥ =091% — 702

108,

Tx? = 2288,

{a)
(b
{e)
(d)

ADN-S-5ND

%  §

1110

109. % TE & aemEn 4, Fofefsn gfomm o

i

wE | R

A H
afdes 3may 20 26
ufiesi qreg 22 23
wivegl w e feaem 10 12
Freferfian @aat & | S a@ 8 7
(al FEE A, U8 B 00 W 9= R,

iR TR A F T faEe T R |

woE A, T B it e &6 oiEdl g,
Wil Ty A &1 ufaey Y T R

P

. wrifgn axawe W & @ s & i

frfefas waat 7 fFen fifaw
1. W IaEwEw A8 8 & o9 ses wEn
st w |

g. &t e g g sfen

q, A7 a8 # & ol smos wwme
et F 9 |

ader Hg1 4 & St wl § 2
{a) Faw 13N 2

(b} e 2 3 4

T = o

(d) 1,233

(31-A)



111. A medicine 15 known to be 7T6% effective to
cure a patient. If the medicine is given to
6 patients, what is the probahility that at least
ong patient is cured by this medicine ?

1
(a) 1054
243
bl =
{ 1024
1023
i '
? lo2s
781
) 1024

112, For two events, A and B, it is given thai!
P(A) = =, P(B) = -~ and k| ) = 5 1t 5ol
and B mﬁemmﬁm&nﬂ:}rwm ny
B, then what is PIAJB) w
3

{a) .
3

() =
1

[lﬂ E |
4

Wy =2 J
T

113, A machine has three parts, A, B and C, whose
chances of being defective are 0-02, 0-10 and
(+05 regpectively. The machine stope working
if any one of the parts becomes defective,
What ia the probability that the machine will
not stop working ?

(al 006
th) 018
el 084
(dy  O-b4
ADMN-5-SND (32—

114, Three independent events, A, A, and A

pecur  with  probabilities  PlA) = %ﬂ
i =1,2 3. What iz the probability that at least
one of the three events oceurs 7

@

W 2

©

@ o

115. Two varigtes, x and y, are uncorrelated and

Etﬂﬂ:lﬂ:ﬂ&i:ﬂﬂﬂﬂnﬂnﬂnﬂu,

resgpectively, What iz the correlation
ient between x+y and x =y 7

g

Oy — Oy
Oy Ty
A random sample of 20 people is classified in
the following table according to their ages :
Age Frequency
15 - 26
25 - 36
35— 46
45 - 56
oo —6b
What is the mean age of this group of people 7
fa) 410
(b 415

(c) 420
d} 425

{d)

116.

(== =L B =T R Y

A)



112,

113.

ADN-5-5ND

&3 A femet Tft 1 e & AU 76%
Fom A T § | 9f2 @ T 5 A w0
TH R AR st e
FHEAFA T = 2

1
&) ﬁ

243
th) - e

1023
(el T

TH1
0
uaﬂtﬂ-ﬁﬂmﬁﬁifﬂq.ﬂﬁmﬂm?-
PIA) = % PB) = l‘i] A PAIB) = 2 2 43
afy X 3 B, Aaﬁﬂ!ﬁ'ﬂﬁ,,
P A | B ) &Fs ==t i
a} %

3
b %
fak % % L

4
@ J

T A & AF qE A, B ot ¢ #, e mgy
(fesfaes) # &t wfisand #9002, 010
i 05 # | 9% g3 0 4 & w1 o vw oA
mamg A S, A1 Hella b1y el d2 s ) R
o # miEEw ® T o s s 6e
FET ol 7

ta) 006

(h) 016
fe) B4

iy 084

114.

# T mE, Ay, A, # A, Wi
PA) = ——, =123 A ufen g & | 5w

w1 wEEa & T Al genet § 8 seawn
s =5fEm B 0

1
T I
3
() E
(3] %
() 21—4
115. 31 famt x sl y wewbin =8 § ol 37 99
e w0 o, B xey AW ox-y
1*\ e w1 =0 R 2

{33-

Al

116.

O Oy
20 F & U ATgreow Waey 1 I 3Y B
v Frefefian wwoft & aftgs B g
e SR

15— 25 2

25-136 4

35 — 45 A

45 — 66 A

55 - 65 3
M % 39 TE o1 4T g w0 E 0
(a) 410
(b} 415
() 420
di 425



117. If the covariance between x and y is 30,

118.

ADN-5-SND

variance of x is 25 and variance of y i= 144,
then what is the eorrelation cosfficiont 7

ial 04

thl 05

fcl 06

() O7

Which one of the following is correct 7

fa) AUBINAUCI=BUC

(k) (ANBIUANC)I=BULUC

(e} ANBUCI=AUBUC

d) An(BUC)=Bndc

119. In a series of 3 one-day cricket matches
between teames A and B of a college, the
probability of team A winning or drawing are
1/3 and 1/6 respectively, If a win, loss or draw
givez 2, 0 and 1 point respeetively, then what
ig the probability that team A will score
5 poinis in the series 7

17
18

ta)

120. Lei the random variable X follow B(8, p). Il
16 P(X = 4) = P(X = 2), then what is the value

of p ¥

() %
(b) i—
@ 3
@ %

(34-A)



117, If2 x 3t v & o9 gewen 30 B, x w1 oUmT (119, UF wew @ @6 A 3R OB & e,
25 R 3 y W T 144 B, W HEEE T 9 w-feady fke 4 6 v ogEen & dw A
R % ot 1 T B & awfomd (gr) @@ 6

mﬁiﬁnﬁm:ﬂaaﬂtﬁﬁiliﬁ:ﬁﬁﬁ,mw
{al 04 Huftore & A 2, 0 3T 1 3 #, qwH
T widwa & F @ e § fw A, 5 HF
® 05 T T
17
(&) 08 . =
11
dy 07 % é{hi 15

B. ey vE fa s
120. wM #ifim &% awEe® = 1 B, p) T FFEW

¢: wnAan 5 far wm # TR AR 6P =4)=PX=2),7 p &

HE &R 7
ot da sRm s adi 8 7
1
@ 3
(a) (AUBINAUCI=BUC
(k) %
(b} (ANBIUANC)=BUC
£} =
el AR UCT=AUBUC b
1
id) 'E

d) ANEUC)=B'NC

ADN-5-5ND (35-A)



SPACE FOR ROUGH WORK
e N 6 foo e
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
&= & & foru e

ADN-5-5ND



SPACE FOR ROUGH WORK
Fet @ & fom s

é\;
<R\ b
=

(39—
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W 7 HTUE] YF W0y §IET WiE 1 T T A0 AF 7w T e

#t, =i, o, : ADN-S-SND wfter qierenT ATFA

Tt EToT gieeRT

TrfoTa

awy ; 5 w2 sify dfiw fame guries : 300
SN

1. wﬁmmmtg{ﬂm,mwmgﬁﬂmﬁ Eyn w1 F T sad wg e o,

mm@gﬂtwmm mﬁ:ﬁmﬁtw .?ﬂ;ﬁ uﬂmgﬁwﬁmﬁﬁﬁm

W?

““ﬂwaﬁﬂwmﬂﬁmmﬁm
rpaTE foram & 1 WiEm e W S S T ﬁﬁl VTAS
ﬁﬁﬂﬂﬂfﬁﬂﬁﬁ%ﬂﬁﬁ;ﬁqm%lﬁ?@mmﬁﬁwtlm

T # =W dﬁfi“’ﬁ‘il B am aemE
= § | !rﬁa:lnﬁ xﬁ a%m@,ﬁm%ﬁ i w1 A U TEEE

aﬂmﬁﬁmmm R

mmwgﬁmﬁﬁwmmﬁﬁqﬂmﬁﬁlmmﬂﬁqwﬁﬁml

AR T & A T A

Tl TEd fiR s wiEm i v % Yy 3G T SR W 6E W, ST 5

gL ¥ e S & SO s T s H AR

AW A Tt ﬁwmﬁm#mmwﬂmmwmmwmmﬁtﬁaﬂ

ma.mﬁm giteger gferm & @ 6 S R |

W] W & (O T wE g % o § de R |

TR I o T 5UE

e yw-at # Tefrran gr e m e sed ¥ e ge T e |

(i) Wew W & o =n dwfeas I B | IaimEn g e wee W fom R e us em I w fem e
0 P fvu e il W we-Taed (0.88) 7vs % wa d W) wmm |

(i) wfe #d sefzan o% @ wfes 3w 20 2, @ W wem I A e, geld fam o e | @ o I
adl gm R, TF off 38 v F o awdmrgan @ = 9 w 90 W e |

(i) = efEm g i wve v T R w2, sl wefeEw g I T T oA R, A 9E v &
fem wrd g =l fmn =y |

W 7 HTTHET TR TOHVT GIEAET W &1 7 HET W0 75 7 T G

Note : English version of the instructions is printed on the front cover of this Booklet,
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Examination: NDA&NA-II-EXAM- 2016

Series: A Subject | |MATHS

Max. marks 300(No. of Items dropp{NIL

Items to be taken for scoring: | 120
1| B |16 | B/ 31| D |46 D |61/ D] 76| C|91]C[106] D
2| A [17|B| 32| Alaz{B|62lc|{ 77| A|92|C[107] D
3| C |18|C| 33 |'B|48| A |63 C|[78] A 93| Al108] B
4| D [19|A[ 3 |Dj4a5| B|64|A]| 79| D [94]|B[109] D
5|/ D |20 B| 35| B|50|BJ65|A|{80 | A |95]| A[110] B
6| D |21|]C|[36|[C{51|Cl66|D[81 | C |96 B[111] C
7| D122 B] 37 BCA¥Fr A |67| B[ 82| D [97| C[112] A
8| C 23| A|38/C|s83|D|es[Cc[83|C [98]B[113] C
9| A [24|A[3|C|54|A[69|B|8| B[99 B|114] C
10| D (25| C| 40 | A|55| C |70 Cc | 85| D |[100| D [115] C
11| C (26| D| 41 |C|56| D|71|A|8 | B [101] D |[116[ B
12| D |27 | A| 42 |[A|57| B|[72(B| 87| C [102] D'[117| B _
13| C |28 D| 43 | A[58]| A[73| A|8 | D [103] B|118] D _
14| D |29 | B| 44 | D|[59| D|[74|B[89| C [104] A|119]| D
15| A |30/ B| 45 | A|60| A|75| B |9 | D[105] A [120] C
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